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PART 1 (35 points)
Answer the questions for either (A) Rules of the Game OR (B) The Enemy.
the previous owner didn't want it
she wants her sons to play outside
The bakery displayed her trophies.
They went to her competitions.

chess is not a Chinese game
cannot be seen." What does Waverly learn from this? Give information

At first Waverly's mother wants to throw away the chess set because (-).
How did Waverly's Chinese neighbors show that they were proud of her?
At the beginning of the story, Waverly's mother says, " Strongest wind

(iv) Waverly wants to learn how to play
(iil) The flower shop sent her flowers.
(iv) They visited her at home.

from the story to support your answer.

RULES OF THE GAME / Amy Tan
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(15 points)
/6 Tnya wnn/

-5~

For this question, choose ONE of the thinking skills from the Appendix (nao3)

on page 15 OR any thinking skill studied in class. Use this thinking

the Americans he has known in the past. What are Sadao's feelings at
Thinking skill I ChOSe: .....cccooiiiiiii

skill when answering the question. (10 points for the content of the
At the end of the story, Sadao looks out to the sea and remembers all
this point in the story? Explain. Give information from the story to

answer, 5 points for the correct use of the thinking skill)

support your answer.
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At the end of Act 1, Kate says, "Be smart now, joe... Be smart.” She
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let's forget it at the same time." What do you think he means by this?

Give information from the novel to support your answer.

17. At the end of the novel David says, "Let's try... not to forget it... but
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When Ben sees how seriously the students are relating to The Wave, he
thinks to himself, "It was as if The Wave had taken on a life of its

The Wave changed Ben? Give information from the novel to support
Thinking skill I chOS€: ....c.cceviiiiiiiiiieeicei e

own and now he and his students were literally riding it." How has

on page 15 OR any thinking skill studied in class. Use this thinking
skill when answering the question. (10 points for the content of the

answer, 5 points for the correct use of the thinking skill)

18. For this question, choose ONE of the thinking skills from the Appendix (o))
your answer.
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PART I (20 points)
Answer the question for either (19) A Summer's Reading OR (20) The Split Cherry Tree
OR (21) Mr. Know All.

Suggested length: 80-100 words.

19. A SUMMER'S READING / Bernard Malamud

"I never let schooling interfere with my education." — Mark Twain

Make a connection between the above quote and the story. Give information

from the story to support your answer.

20. THE SPLIT CHERRY TREE /jesse Stuart
"One mark of a great educator is the ability to lead students out to new

places." — Thomas Groome

Make a connection between the above quote and the story. Give information

from the story to suppoit your answer.

21. MR. KNOW ALL /W. Somerset Maugham
"There are four ways, and only four ways, in which we have contact with
the world. We are judged by these four contacts: what we do, how we look,

what we say and how we say it." — Dale Carnegie

Make a connection between the above quote and the story. Give information

from the story to support your answer.
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Use this page and the next (pages 12-13) for writing a rough draft.




-13 -~

NoDY+416,016117 00,3 TYI VYWD P ,TNI00 IPOAIN

A MY — NI VA MG . g Fomm y~ B9 — N TSNS S o L VA MNG e o Fomm " TR 5N g Fomn " Y u/‘\/‘\\‘i' 1¢\q/‘\/‘\\.§'\; -\«/‘\fli\il\‘ \4/‘\/14§\.§'\1 -\:/‘\llh\.i'\‘
VI AN A S N AN A ST N AN A S 1 N AN ST IS AN A ST I I ST I XA ST S XA 1 YOS T S 1 S S T
SVSINCASYS I WSS VIS OGS A N T R SR TN TN N R ) At S 2 N o WA

1 ~ - ~ : PASNEY >
SSOLITRISAGT N GCULT TNULL (U SRGIEX MG Rad I ada (o5 v e GRERINAIGhEY
NSA\N7 7\ e I e . Y PASTARAR YRS ANT T T Y R IR L TR R A\ Pt P
RN\ RN D N a2 E A o e B e B e B S 2 B Y T e B v R e XS Y e X S A XS o



TN TN YNAS U AN VNS U DA VNS T DA YA LT YRS LT A VA L TAN VS L T A V2N SN DA YOS LT AT T X AT ATV I2 K
AN V2= /\\\fo S \nf\unv\ Ry \D/\\l/ NS /\\W\HJ\ 7\ /\\W\/I\ —\D/\\W\//\ vV \ A\\/\/I\ VAT 1SN AN 1S VNG 1So Vs
2pa =V A\ S | B A \MNS ) N WS B A A W\ S Por g AN S [ ) 2N \NS Lo ) N NS o p QN ANS oy (N NS [y N \N S paeVr \OS [,
MR CA S SEGIA R R B R A A I N AN A R AN S A N AA N T N A D S S R A AN DN AN SN TA R SO S AY

b g ! NN~ AN e s A NN - oo o | NN == ASAOTWIIP N BN
YT ANSH AR > SAESTRALE TV SIS NS (N CCUIT TNLLL LU v\
DUNZAINNTN R0 ¢ wve momry. TN ORI AN ORZ L TAANUII LTINS OGN ¢ VIAINIORS LT
I\\/\Ir/ll\\h— A N - — 2370 P\I\\V\Ir.ll \h; _I\I\\/.\Irvll A\ .I\I\\/Ar/l.l \/:I\U\\\/ul. T INVIS DS Sr INV S A0S 2 N\ .IV\\V\IIVI Y

e =N\ e N S NN S T VT S~y e \ Y S -\ -X o (o - < | v by - s N a2
R N S N SIS N S S N R T S N TR S O SRS S RS S o NS RS S U R RS S U NS RS IS U s

- 14 ~

1Innbsna
SR NPTHY 1NNY DNV
TNN TN MY ROX DDIDY IN PPDYNS PR

NovI+416,016117'01 .2 TYIN V'YWUN VP NIOD IPYIN

Write your final version here:
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APPENDIX TO PARTS I and II
Thinking Skills

o Comparing and contrasting

» Distinguishing different perspectives
o Explaining cause and effect

e Uncovering motives

e Inferring

» Explaining patterns





